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PART -1: MENTAL ABILITY TEST
(For Student of Class VIII)

Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet.

2. There are 90 questions in this booklet. All are
compulsory.

3. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet. Do not mark ‘' or ‘X’ in the OMR sheet.

4. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

5. Ifyou donot know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/loose paper.

7. Each correct answer will be awarded one mark.

8. Please return the OMR Answer Sheet only to the
invigilator after the test. You can retain the Question
Booklet.

9. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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MENTAL ABILITY TEST / wensdmest Csivay

Direction : (Question Number 1 to 10) :

Find the missing number /letters in the following

sequences.

1. 9, 30,51, 72,

2. 54,9 13,22,
1) 36 2) 42

3) 35 4) 29

3. 3,412 48,
(1) 576 2) 675

3) 412 4) 516

4. 328,164,82,

1) 50 Q) 26

3) 41 (4) 40

4. 328, 164, 82,

aufipenm : (afleorm eTeior. 1 (pFHed 10 euemiy)

Wesreupd Qariri suflemauilev el L sTevor/

TWSSISHSMETS S6tT(HLillg &S0l

1. 9, 30,51, 72,

2. 5,409 13, 22,

1) 36

3) 35

3. 3,4,12, 48,

1) 576

3) 412

1) 50

(3) 41

93

81

42

29

675

516

26

40
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5.

1, 4,9, 16, 25,

(1) 38

AZ, CX, EV,

(1) HR

3) GS

4) 36

2 -125

4) =75

() 85

1, 4,9, 16, 25,

(1) 38
(3) 48
—%, 1, -5, 25,
(1) 125
@) 75

1) 87
3) 97
A, DG, ],
1 M
3 O
AZ, CX, EV,
(1) HR

(3) GS

4) 36

) -125

4) —75

2) 85



11.

12.

2Y, 5V, , 17], 26A
(1) 125

2) 7R

(3) 10Q

(4) 10R

“Gun” is related to “Soldier”. In the same

way “Needle” is related to

(1) Tailor
(2) Thread
(3) Weaver

(4) Sewing Machine

“Man” is related to “Child” then “Cow”

is related to :

(1) Calf

(2)  Bullock

3) Cub

(4) Milk

10.

11.

12.
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2Y, 5V, , 17], 26A
1) 125

2) 7R

(3) 10Q

(4) 10R

“Gun” eTeirug “Soldier” eT6oTLIGIL 65T
@amLiysoLwg) eTesfley, “Needle” eTearLig)
2 | 607 QST Li6mL LS.

(1) Tailor
(2) Thread
(3) Weaver

(4) Sewing Machine

“Man” “Child” o L 6T
@arLrysmLwgl eTesfley, “Cow” eTeiTLIS)

TSI 60T QISTLITLj6mL LG ?

6T 60T LI &)

(1) Calf
(2)  Bullock
(3) Cub

(4) Milk
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Direction : (Question Number 13 to 16) aufipenm : (afleorm 6Tevor. 13 (PGS0 16 ausHN)

There is some relationship between first two &6l o eTer @IT6HOT(H TSNS /6T(LSSI/
given words/letters/numbers. Find the other 6TE00T S EHS S ML G TCHmID @ CSTLITY
one from the given alternatives having the 2 sTemgl. 965 GsrLmler 9jglinemLuis
similar relationship. Gesr@ssuul L Gsflaysaflladl@mrg Gurms

gLrearmg Csimhelsh&Esa]L.

13. Butter : Milk : : : . 13. Butter : Milk : :
(1) Book : Paper (1) Book : Paper
(2) Paper : Book (2) Paper : Book
(3) Book : Colour (3) Book : Colour
(4) Book: Pages (4) Book : Pages
14. Water : Pipe:: Blood: __ 2 14. Water : Pipe::Blood: _ ?
(1) Artery (1) Artery
(2) Heart (2) Heart
(3) Brain (3) Brain
(4) Bone marrow (4) Bone marrow
15. A:E::1:_? 15. A:E::1:_ 2?2
1 Y 2 z 1 Y 2 Zz
@ O 4) B @ O 4) B



16.

17.

2:3::7 ?

1 9 2 11

B 5 4) 6

The missing letters in the sequence

a_ab _ba_ab is :

(1) bba (2) bab

(3) aab (4) abb

Direction : (Question Number 18 and 19)

Find the item which is not associated with

others.

18.

19.

(1) Dharmapuri

(2) Kanyakumari

(3) Ramnad

(4) Cuddalore

([CODE|vIII| T | 20 |

16. 2:3::7: ?

17. a_ab_ba_ab ererm GQamriifle efhulL

(TLSGISH ST :
(1) bba (2) bab
(3) aab (4) abb

auflpenm : (aflerm eTevor. 18 WmmID 19)
&0y Qar@&ssiulLaummled CanulL amss
&60T (DL llg S&6LD.
18. (1) sy
(2) seesflum@Loi
(3) @WmoBTSLD

(4)  sLem

19. (1) + @ -
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20.

21.

22.

23.

If ‘rain’ is called ‘water’, ‘water” is called
‘sea’, ‘sea’ is called “cloud” then what do
we drink when thirsty ?

(1) water (2) sea

(3) cloud (4) rain

If ABC is coded as 262524 and XYZ is
coded as 321 then PQR is coded as :

(1) 161718 (2) 181716
(3) 11109 (4) 91011

If “Cup Of Coffee’ means COC, ‘Coffee Is
Tasty” means CIT then ‘Creamy Tasty
Biscuit’” means :

(1) BTO (2) CTB

(3) CBT (4) COT

AB=0, BC=2, CD=6 then ABC="7?

20.

21.

22.

23.

‘rain’ eTeoTLIG ‘water’ eTeuTe D, ‘water’
6T6OTLIG)| “sea’ 6TeOTaLD, ‘sea’ eTeoTLIG) ‘cloud’
6T 60T 6| LD
TS GLCUTE mHEIg ?

IOPSSILLLTN ST

(1) water (2) sea

(3) cloud (4) rain

ABC st6TLIg)| 262524 sTeoTarld, XYZ eT6aTLIS)
321 ereareld GMIUIL L Lmed PQR 6T6TLIS) -
1) 161718 ) 181716
3) 11109 4) 91011

‘Cup Of Coffee’
‘Coffee Is Tasty’ ereorug) CIT eTerajld

steorLig) COC  eT6uToULD

&z Gamereriiu’Lmed ‘Creamy Tasty
Biscuit’ eT6aTLIg) ©

(1) BTO (2) CTB
(3) CBT (4) COT

AB=0, BC=2,CD=6 eresflo ABC=?



24.

25.

26.

The logical right sequence of the four

words given below :

Learn, Exam, Result, Book

(1) Result, Exam, Book, Learn
(2) Book, Learn, Exam, Result
(3) Exam, Learn, Result, Book

(4) Book, Exam, Learn, Result

The right alphabetical order of the four

given words :

corporation, collar, coin, column

(1) collar, column, corporation, coin
(2) coin, column, collar, corporation
(3) column, coin, collar, corporation

(4) coin, collar, column, corporation

Choose one word that cannot be formed

from the letters of the word ‘objection’.

(1) object (2)

caution

(3) net 4) jet

24.

25.

26.
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&CYLsTHiSSILL(DeTeT 4 0T S6m 8 8 61fl6oT
(psomwwimest euflsne :

Learn, Exam, Result, Book

(1) Result, Exam, Book, Learn
(2) Book, Learn, Exam, Result
(3) Exam, Learn, Result, Book

(4) Book, Exam, Learn, Result

QsThHSsLULL EHT6TE 6UTT&6ms s 6ifler
ymid 9SS auflens :

corporation, collar, coin, column

(1) collar, column, corporation, coin
(2) coin, column, collar, corporation
(3) column, coin, collar, corporation

(4) coin, collar, column, corporation

‘objection’ eTearm UM SHem&uiley 2 6ier
TPSSISSHET eeUld 2 (HEUTEHS @IITS
UM &H6MS :

caution

(1) object (2)

(3) net 4) jet
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27.

28.

29.

30.

Identify the meaningful word in the 27.

following shuffled word : nescod

(1) second (2) note
(3) noise (4) score
The fourth letter to the right of fifth letter 28.

from the starting in the English alphabets
is :

The number of 7’s preceded by 9 and also 29.

followed by 6 in the series 89679756976
is :

Which of the following is the greatest 30.

number ?
(1) (3x3x3)? (2 (B3+3+3)?
(3) 3+32+[32]? 4) [B+3)2)?

10

nescod 6TeoTm LIHHIMLSSLILLL

TWSEISSHET epeld 2 (HaUTSHSLULGID

ITSS(LPSTAT CUTTSHEMS :
(1) second (2) note
(3) noise (4) score

QS s auflmeuiled mhsTalg
TWSHOMHHE NG LSS 2 6Tar
6T TEUS) 6T(LSS) -

89679756976 erearm srevor GigmLifley 9—sn
QarLihg WO 6-9 YeaTarsnss
Qs metorL 7—&6ifleor eTetoTsnOl1SH6mMS; -

Slpasmevr sTevorgafley Quifliug eTg) ?

(1) (3x3x3)2 2) (3+3+3)2

(3) 3+3%2+[32)? (4) [(B+3)2)?



31.

32.

33.

A student ranked 12t from the top and 31.

231d from the bottom in a class. The

number of students in the class is :

If the day before yesterday was Friday, 32.

then the day after tomorrow is :

(1) Sunday
(2) Tuesday
(3) Monday

(4) Wednesday

A man starts walking from his home 33.

northward a distance of 30 mts. He then
took a half turn towards right. The

direction in which he walks now is :

(1) South-East

(2) North-West

(3) North-East

(4) South-West

11
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@ eu@GLley o smar LomemTauTSafled 6(TH
wrewreufler gy Guedlmhg 12—
Q5P SfEEE 23-0gl GlL-5SaiId

@mHeTe  Ynhs uGLULNe 2 eTer
LomesoTeIT S 61fl6aT 6T 6wt 6t0f|H6m S
1) 34 2) 35
3) 32 4) 11

Crpmpw HarsdnG YHmsw Ser
GeusTaflSSlpemLowrs @\(mhSme HTemeTLL
LOMIHT6T :

1)  emuilmmsaslpemLn

(2) Gsesueumiilpsmin

(3) Sms &lpemin

(4) uysser&lpsmio

8( el eurs) el e e0lmhgl auLSlens
Crra e 30 L. ST BLHSTT. 9|g60T Lieareurt

g UuSsLTES  45° Csmenrsdley
Smuydlpmrr  eTefley, geur HLHS
Q& ey (K& G Slens ©

1) Osardlyss
(2) auLGung
(3) L HYpss

(4) Qger GunG



([CODE|vIII| T | 20 |

34.

35.

36.

37.

A boy rode his bicycle northwards, then 34.

turned left and rode 1 km and again
He found
himself exactly 1 km west of starting point.
The distance travelled by the boy in the

northern direction is :

turned left and rode 2 kms.

(1) 3kms (2) 1km

(3) 2kms (4) 4 kms

A man has X 6,400 in ten rupee, fifty rupee 35.

and hundred rupee notes of equal
denomination. The total number of notes

are :

(1) 120 (2) 100

(3) 110 4) 115

The square root of 36 x%° is : 36.
(1) 6x° (2 6«12

(3) 8«2 (4) 6«18

If “all the child are men” and “all the men 37.

are women” then :

(1) all the men are child
(2) all the women are child
(3) all the women are men
(4) all the child are women

12

gleueioriguiley oL Slemaullen Gesrm
Qs metTie (&G0 (1 FmieL6T @I &) LSS0
Sl 1 &l.if. ClgeoTm Lfedreor LomLlg LD
@L g ussh Sl 2 &l.uf. tgsdinmer.
s dmelear sn6urg GCmLRkIEGLW0
@550 mhg GCundle 1 &.uf. srrsdle
@olusTs gmMdpmer srefl, e —
Slemauiley Fmieuetr LwemlGes Sy :

(1) 3 &l (2) 18

(3) 2 &, 4) 4 &b,

(1 Werfl&iT T 6,400 -89 LSS eHLIMILL SOLOLIS)
emUML LMMID BN emuml CHTL(HS6TTS
gl eTetoTeun{1S6mSUTN6D mEUSE @\HHSTIT.
SeuflLfipEs Qurss Crrl(hssafler
6T600T 600156

1) 120 2) 100
3) 110 4) 115
36 x30 6TGITLIGEIT 6UITSSeLp6ULD :
(1) 6x° (2) 6«12
(3) 8«x!2 (4) 6«18

“all the child are men” LymmILd “all the men
are women” 6Teafle :

(1) all the men are child
(2) all the women are child
(3) all the women are men

(4) all the child are women



38.

39.

40.

41.

If 5%x6A7=23then:

(1) =is +,Ais +

(2) =is X,Ais —

(3) *is +,Ais +

(4) =is —,Ais X

If"+7is"—’,"x"is “+’ then (8 +5) X3 is :

If'—"is“+"and “+"is “ X’ then 16 +5-5

is:

(1) 85 @) 90

3) 80 (4) 95

If 2#3=5, 7¥4=11 then 6¥4 =

1) 15 2) 2

3) 10 4) 24

38.

39.

40.

41.

13
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5% 6 A7=23 eresflev :

(1) = eTedTUG +, A 6T6OTLIG| +

(2) = eTeOTLIG| X, A 6TITLIG

(3)  * eTedTLIG +, A eTedTLIG +

(4)  * eTeOTLIG —, A eTeOTLIG X

7

“+7 eTeoTLG ‘—’ LMMID ‘X eTeOTLIG| -+
sT6fley, (8 +5) X3 :

‘—7 eTedTUG ‘+’ LMmID ‘< eTedTLIG X’
¢Teofley, 16 ~5—5 :

(1) 85 2) 90

3) 80 4) 95

23 =5, 7%4=11 eTeufls, 6+4 =
1) 15 2 2

3) 10 (4) 24
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42.

43.

44.

The angle between the hour and minute 42.

hands when the time is 3 hours 30 min. is :

(1) 60° (2 72°
(3) 70° 4) 75°
A mirror is placed in front of a clock. The 43.

clock time shows 12 hours 05 min. The

reflection in the mirror shows :

(1) 1 hour 50 minutes

(2) 11 hours 50 minutes

(3) 1 hour 55 minutes

(4) 11 hours 55 minutes

Manju was born on 29.02.1984. How 44.

many birthdays would have been
celebrated by her upto 2020 ?

14

Gy 3 wewwfl 30 HIA_riseTTs @)(MH5ESLD

Gurgl, @M WLSEHSGL @l LUl L
Gasmevorid :

1) 60° Q) 72°

@) 70° 4)  75°

QR SlesMrsHde Crrwmerg 12 wefl
05 FLAl_Lomss ST (HEMS). )&l ST SSl6T
(pétT SevoTemoTMig MWL GlUTHSG D CuTs)
seuorevorle. LTS0S @GLD GETLD :

(1) 1 wewfl 50 HiHl_riser

(2) 11 wewsfl 50 HILOL_rEis6T

(3) 1 wewfl 55 HLlL_miser

(4) 11 wewsfl 55 HLblL_migsiT

Eh& 29.02.1984 -6v LmmgleTemmi 6Teufley,
geur 2020 eueny  THGemer LImn S
HTL_&6m6T8 (s msuoTLmig USlmLILITT ?



45.

46.

47.

A is brother of B but B is not the brother of
A. What is the relation between A and B ?

(1) A-Brother, B-Brother

(2) A-Sister, B-Brother

(3) A-Sister, B- Sister

(4) A-Brother, B-Sister

The number of numbers divisible by 9 and
6 between 1 to 100 is :

Which of the following is a composite

number ?
1 1 2) 3
3 2 4) 4

15

45.

46.

47.
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A eteorueu B eteorueufleir sGsm& e
gueormed B eTeoTueu A erearuieurfleoT
gCargrer g erefly, A wmmid B
L HGwmlstT 2 meyLpsmm :

(1) A- gGsraier, B-gGsmsiem

(2) A- &Csrsifl, B-gGsrsier

(3) A-sGsrsifl, B-gbsrsifl

(4) A-sGsrgysr, B-gCsnsif

1 pged 100 suemyulleysiTer 6T 6tor & 61fl6v
9 wHmih 6 o6 euEGU@ID 6T 6voT & erfl6oT

6T600T 600{|5H6MS
(1) 10 2 5
@) 11 4) 6

Carhi&sulL erersaflsy L) eTevor 6TS) ?
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48.

49.

50.

Which of the following is a middle-

number in the numbers

2, 1.732, 4, z, E when written in
7 4 5

ascending order ?

17 22

O @ -
16

3) 4 @4 5

If 4x8=16; 3x6=9; 5x6=15, then
2x3=

If 12+4=8; 9+4=5; 7+5=2 then the

meaning of the operator =+ is :

(1) subtraction

(2) addition

(3) multiplication

(4) division

16

48.

49.

50.

%, 1.732, 4, %, % -l 6T 600T & 6 61T

stmieuflemauilev stLpgin GLITS) HHieN ei(mHLD

6T600T 6T ?

Y y 2

o 5 @ =

3) 4 4 16

©) @
4x8=16; 3x6=9; 5x6=15 ereflev
2X3=

1 2 2 3

G) o 4) 1

12+4=8; 9+4=5; 7+5=2 ereuflev =+
sTeoTm GHMIWIL g 63T QYTSHSLD :

(1)  sfisge
(2) &lLey
(3) Qu@msse

() uGSsN
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Direction (Question Number 51 to 55) : auflpemm : (afeorm eTevor. 51 (P60 55 66MT)
Find the missing number/letter in the following Qarhssiul L uLkigeaflsy eSl(HuLL eTeoTenesor/
diagrams. TWSMSS S6oT(hllg &HSa L.

1) 8 Q) 22 1) 8 2) 22
3) 28 4) 35 3) 28 4) 35
52, 23] 1 27] 2 2 [ 1 52. 23] 1 27] 2 2 [ 1
7 X 3 7 X 4 6 X 5 7 X 3 7 4 6 X 5
5|4 56 4|2 5|4 5|6 4|2
1) 9 @ 21 1) 9 @) 21
k) 7 4) 16 3G) 7 4) 16
53. 4|3 |1]| |2]2|o] [3]|1]2 53. a4 |3[1] [2]2|0] [3]1]2
2 21210 6 1 212 |10
503|121 |8 4l |712]|5 5032 |8]4]4a| [7]2]5
1) 10 @ 6 1) 10 2) 6
3) 8 4) 12 3) 8 4) 12
4 31 5 3 2 4 31 5 3 2
1) 5 2) 6 1) 5 2) 6
G 2 4 1 3 2 4 1

17
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9W 10V 11U

11V 7X 12U 8W 13T 9V

13U 5Y 14T 6X 15S ?
37 4Y 5X

(1)

55.

7Y 6Y

(2)

oW 7W

(3) 4)

Direction : (Question Number 56 to 58)

Select the diagram from the given four diagrams

which illustrates the relationship between the

classes.
56. Class : Odd numbers, Even numbers,
Numbers

OO0

18

55.

9W 10V 11U

11V 7X 12U 8W 13T 9V

13U 5Y 14T 6X 15S ?
37 4Y 5X

(1) 7Y (2) oY

3) 6W 4) 7W

aufipenm : (afeorm eTetor. 56 (PG 58 euemy)

Garhssiu’L Qer@luseE 2 fiu uLGdlemer
Caim6sh&&aLD.

56. QsmELy RMEMMLILIENL. 6T 60T S61T,

@7 6mL_LILIGML 6T6TOTS:61T, 6T600TEH6IT

D,
©

OO0



57.

58.

Class : Quadrilaterals, Triangles, Lines 57.

(1) @

@ OO0

C300
s (0)0

Class : Food, Vegetables, Carrot 58.

o (00
O

(2)

19
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QaMTELY : BINSTRISET, (PS0SHTEmTRISET,
O

o (10
s (0)0

CaT@LL : 2_smwre], smusMlseT, Gl

o (00
O

(2)
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Direction : (Question Number 59 to 63)

In the figure given below, there are three
intersecting circles each represents Electricians,
Artists and Singers. Different regions are
marked as 1 to 7. Read the statements in each

of the following question and choose the correct

answer.
Electricians
Artists
Singers
59. Electricians who are artists and singers :

60. Only artists represent the region :

20

aufipenm : (afeorm eTetor. 59 (PG 63 M)

uLs&le  ewerrm Gl (B UL L RIS6T
seLIGleumsaTmILD GMILILG) Lil6oTevfliLieh e6LEYIBITS6IT,
SHEMEVEHITSHET, LIHMILD LITL_ST&6T Q@SL. 1 (LPSev
7 60 Goumiu L u@dser GmlSsUuL (DsTeTeor.
CETOSSUULL S NMISEMET S6U6TLONS Lo &8
ellemLw6fl& & a]Lb.

ilevtevfliien
EUEVEY|GBTTSHET

2
o

UML_&T&6IT

S6M60(EHTSH6NT

59. SMeEHT LHMID LML SISETTS @)(55 &L
LOl6oT 6 ILI6L ELIEVEVIGITES6IT :
1 2 2 5
@) 7 4) 4

60. smevEhsemer L (I GHIINGID LGS :



61.

62.

63.

Singers who are not electricians and 61.
artists :

¥ 7 2 4

G 5 4) o

Artists who are electricians but not 62.
singers :

1 2 2 3

3 5 @4 7

The region 7 represents : 63.

(1) The people represents all the three

(2) Artists who are electricians

(3) Singers who are artists

(4) Electricians who are singers

21
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LhleoTenflLie EUEEYIBIT LDMMILD &6m6V(EHITS6IT
I|6V6VTE LITL SITS6IT ©

UTL SIT&6T 9|6D60TE SH6MeVEhTEH6T LOMMILD
LOl6oT 63 ILIGL ELIEVENIGITESSIT :

7 — sugl @10 @GMILSI(Heus) :

(1) oyemersg epsarm) Lilifleleormid

(2) leresflued eUIBISET LOMMILD
&6M6V(EHIT 61T

(3) UML&I&ET LOMMILD &6MmeVEhTSH6IT

(4) fleresfluey UGB &ET LOMMILD
LITL_SIT&61T
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Direction : (Question Number 64 to 68)

Read the given information and answer the

questions.

(ii)
(iv)

64.

65.

66.

Five friends A, B, C, D, E are standing in a
row facing same direction.

The position of A, B, C, D, E are not

necessary in the same order.
B is between A and E.
C is immediate right to E.

D is immediate left to A.

The order of standing position is :

(1) DABEC (2) ABCDE
(3) BACDE (4) CDEBA
Who is left of D ?

1) A

(2) none

3) B

4) E

Who is right of D ?

(1) B @ C

3) E 4 A

22

aufipenm : (aN6orm 6Temor. 64 (LS 68 KUMI)

Qasr@&ssUuUl (HaTar SS5al&meTL Lig&&)

SP&ETaId alaTmssEnseE aflamwsflsaaiL.

64.

65.

66.

A, B, C, D, E eT6tTm o9rbg mevotLITE6T eIy
Sengemw Crrsd Hndlmmissr.

geurgst A, B, C, D, E steorm aurflemauiled
s Geustoripl gjeuliLiilsvemev.

Apmry E-&@ mbedlev B 2_aremmii.
C eT6oTLIGUT E—60T 660 GILIMSSHI60 2 6TETITIT.

D eTearUeuT A—60T @I SILM& S0 2_6TeiTIT.

soeurfler Him@Ld eurflems :

(1) DABEC (2) ABCDE
(3) BACDE (4) CDEBA
D -&@ @\ LLmLd 2 siTereurt wmr ?

1) A
2)  sTeugpLhlsemey
3) B
4) E
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67. Who is left of C? 67. C-5@ @LLmid 2 eTeTeur Wi ?
1) A 2) B 1) A 2) B
3 E 4 D 3 E 4 D
68. Who is standing in the middle ? 68. maflev fleotm Gl&mevorie (LILIGUIT WiTT ?
1) B 2 A 1) B 2 A
3) E 4 D 3) E 4 D
69. The number of triangles in the following 69. GETOSSILLL LS o 6T (& Gasmsmer
figure is : migefler eTetoTemnl1SH6MS
1) 8 (2) 4 1) 8 (2) 4
3 6 4 2 3 6 4 2

23
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70.

71.

72.

The number of squares in the following

figure is :
1 4 2 5
B 3 4) o

A die is thrown two times and its two
different positions are given below.
Identify the number on the face opposite
to 3.

The mirror image of 4S s :

1) e 2) w2

) e “4 5S4

24

70.

71.

72.

Car@ssUulL ULS&le 2 6Tar &&ITm
s6iflear 6T6voT608{ 1S 6M -

QM usmL  @rear® (peom o HLLL
UL &leo gizemr GleusiGeaun) Hemeusssit S6ip
Gasr@&ssiul erarer. 3 — @il
UL (heTer USSSHMEG THT LSS SSH 6
2 6IT6T 6T6UOTEMETOTE: &680TL_MILIELLD.

4S eresrug 6T SevoTewTTe ALDLID :
1 e 2) w2

(®) 2w 4 5S4



73.

74.

75.
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The mirror image of 4—@ : 73. 4—@ 6T6OTLIS 60T S>6t0T6u0TTLe. LSILDLILD

00|00 HO]O|O] 0

(1) (2) () 4) (2) ®) (4)

The water image of 2L is : 74. 2L ereruger Hiflwed 9ibub :

M 15 @ <L M 15 @ oL
@ oI @ ST @ oI @ ST
The water image of the following figure 75. Wereu(mid UL Slear Hiflwed oL :

1) (2) 3) (4) 1) (2) ®) (4)

25
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Direction : (Question Number 76 to 80)

Find the figure which is not matching with

others.

76.

77.

78.

79.

26

aufipenm : (aS6orm 6Temor. 76 (LpSH0 80 6UEMN)

Qar@ssiulL BTG ULkisafld GeumuL
LULSmg Caimholsh&sa]L.

76.

77.

78.

79.




80.

0 | £V |

1) (2) () (4)

Direction : (Question Number 81 to 85)

Identify the figure which is the continuation of

the given three figures.

81.

82.

([CODE|vIII| T | 20 |

0 | £ |/ |

(1) (2) ®) 4)

80.

auflpemm : (afeorm eTevor. 81 (S0 85 6u6MT)

&0y o 6T eETM ULBISEHRSS HHSS
U GouetoTig Ll LIL S6m& &600T(HILTllg S&6LD.

81.

82.
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83.

84.

85.

O o
?
@) O ©)
o\|d | o
O o0 O
“m o 6 o
QO

83.

84.

85.

28

O o|O
?
O O O
o|DO O|o
O o|o O
1) (2) 3) )
QB




Direction : (Question Number 86 to 90)

Figures A and B are related in some manner. By
the same relationship figures C and D are

connected. Choose the figure D from the options
1), (2), (3) and (4).

86.
O O |lCa] 2
A B C D
(1) (2) 3) (4)

87.

29
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auflpemm : (afeorm eTevor. 86 (S0 90 eu6MT)

LLBigsT A ommid B gy éliusmel sp(p GigmL il
2 aremenr. 9|68 GamLmile uLmiser C pmid D
L élwmeal @ s @umuiler, uLim D —ufleneor
(1), (2), (3) wpHmd (4) -OBHS
Coiin6&Hh&&aL.

UL 518 61T

86.
OO ||lCg] 2
A B C D
(1) (2) 3) (4)

87.
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88.

89.

90.

/\ | A ?
A B C D
A | =1 [a] | 8]
) 2) (3) (4)
E ] S ?
A B C D
w o) S e
1) 2) (3) (4)
AN | AN ?
A B C D
) 2) (3) (4)

-00o0-

88.

89.

90.

30

/\ | |A ?
A B C D

A | =1 [a] | 8]
D (2) (©) 4)
E q S ?
A B C D
v o) S e
D (2) (©) 4)
AN | AN ?
A B C D
D (2) (©) 4)

-00o0-
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Sieysremib LGS (LSS 4nE 2L Ll L geoev)
FOR ROUGH USE (Not for evaluation)
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Sireyarapib UGS (LSS 14DHE 2L Ll L g6oe)
FOR ROUGH USE (Not for evaluation)
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LS Qeustor
Roll No.

PART -1I1: SCHOLASTIC APTITUDE TEST
(For Student of Class VIII)
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided for Part - I.

2. There are 90 questions in this test booklet. All are
compulsory.

3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet. Do not mark V' or ‘X’ in the OMR sheet.

5. Since the time allotted for this Question Paper is
very limited you should make the best use of it by
not spending too much time on any one question.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which
you have left in the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/loose paper.

8. Each correct answer will be awarded one mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. You can retain the Question
Booklet.

10. Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

UGS - 11 : ugOuleyd Smeir uGHS Coitey
(TLLTD eu@GLIL| LOIT60T 6UIT & (6Th & &1T 61T Gl

Grrd : 90 Bl _migsT

GCarira] egIuaTsEnsamear ol Lpemmnssr

afleorm  mred QerElUmus  SolugneE (e
QaTR&sIULBsTaT NlH)(LPHMSENETS SEISTLINS Lilg SHES6|LD.

Qs LHIGLTTSST : 90

1. aflemLsemst uGsl-I CaialnG suprsiu’ L. OMR
afleoLSsmaflCoGw @M&e Gealstor(HILb.

2.. @5Cgralle 90 allarmaser 2 srearer. gjemarSHMEL
sL_Lmub eSlemLwieflSauL Coussor(HILD.

3. efleorm etevarsseir 91 - 110 semeflgin, 111 - 145 gynflefwisy,
146 - 180 selpss gnflafliLieh LITL_BISEn6TE ST HS M6,

4. eaiGeourm aflamaln@ CsThissUul (HsTar WTH)
eflsoL&eafled(mEg) sflwmer eflen_ullsnears getorL kg
Ims OMR eaflenL_zmeafled 2 fl e’ L Sl &Ly
Blm umeoumuflssor. Guestmefearmsd St Geoustor(HlLd. "
wpmid ‘X g &l Giluibsmer OMR aflsoLggafle
Q&S Sol TG

5. @5 NaMMEHSTERSHES RSISSILL(HETST ST 96Ty
Hss @onaurarsrs @ mUUETH a5F5 QI
aflerreln@L s hisn Crrsmss saanflésmoe
Crrgams L& fAiphs (penpuflsh LisTLHSSaLD.

6. ersmug @ allemelng ailen Qgifluailssms sTearmmsy
IIH GG smevuefiTuh QFiumos 9H\&s ellarmelng
@aseean. CrrllmLsTH PHle el Hi&EG s
efleorms&emer (pwme Gsinue .

7. eflenLsemens sevor_lil CLomGlEmsTEmLD euLfl(LpsmmaessmeT
eflear BTGB 615G Goustor(BILomsaTTayd ClEFiiig)
@amerereorin OMR — eflenL §graflGomr e g
geoflHEmeflGour QFNLS S L Tg).

8. aQeurm sflurear aflewL&@GWw e &Gt
QULBISLILIHILD.

9. Gaiey Wihs IME OMR eflamLggmensr WL HILD
Imm& 6T menfILTeTiIL D QET(HS S0, afleTmmTe
Gam@Llismu Gaiielr sT(N581&F Claasusurid.

10. s5CaamId Sle &S QML Gamerear Galstorip i 65 LpiHlsmen
DU ET 671 @&s LUHORImTmEmTS &6aIMmmLne)
G0 eb.

USSSHM S5

OBML_isea|L.

S mui udlevefl &8 &
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91.

92.

93.

94.

([CODE|vIII| 1T | 20 |

MATHEMATICS / &6wflgLd

If 2 is added to all the observations, 3, 6, 9,
12 and 15. Then the mean of the new
observations is :

1) 9 @ 11
3) 55 4) 45

If (a+b)=12 and a?—b?= —24 then the
value of a—b is :

1 -2 2 2
3) 144 4) 36

Choose the incorrect statement.

(1) The opposite interior angles of a

parallelogram are equal.

(2) The sum of the interior angles of a
parallelogram is 180°.

(3)  The opposite sides of a parallelogram

are equal.

(4) The two diagonals bisect each other

in a parallelogram.

Find the percentage of shaded region in

the following figure.
(1) 50% (2) 25%
(3) 100% 4) 75%

91.

92.

93.

94.

3,6,9,12 bHMID 15 R Fw emensg)
ST&@HLEID 2 -B& Fnl lgeTe
feoL&@b LS srejsefler srrefl :
1) 9 @) 11

(3) 55 4) 45

(a+b)=12 wHMID a’>—b’= —24 eraflé
a—b -em WL :

1 -2 2 2

(3) 144 4) 36

SHOUDTEST FnHENMS SHerTL_HlLe]|LD.

1) o0 Qoarsrsdad addrsi
2 | CaHrenThiseT FLoLb.

2) @ Qamansrsdle o I CaHmreamTmni-
satler g (hged 180°.

() o0 Qoarsrsdld adcrdi
LIGSBIGET FLOLD.

4 @6 Qoarsrsdo pame-
SN LmBIgeT earmidblamern @)m-

& FnMl(HLD.

ECY Qar@ssiulBdrer LLGSHD,
Blpad il L ugHuler ssaissamss

HTEHTS.

(1) 50% Q) 25%
3) 100% 4)  75%
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95.

96.

97.

The following hexagonal shapes are taken

from Pascal’s triangle. The value of x, y

and z are :
(1) 6,20, 28 (2) 10, 35,10
(3) 6,35, 28 (4) 6,20, 35

In AABC shown in the figure, the value of
xis:

A
X
110° 60°
D B C
(1) 60° (2) 50°
(3) 110° (4) 45°

The degree of the expression
(3p*+29%) — (5q +6p%) + (7p*~9p) is :

95.

96.

97.

Yemeu@mbd mikCETanT 6ulq 6k &eT
urevse WP&Casreamsdler L@GH wTs
S erafled, x, y LHMID z -6

wdiyser weannGu

(1) 6,20, 28 ) 10,35, 10

3) 6, 35,28 4) 6,20,35

uLgdled arhassiul(Herer AABC
-@ed x -ar WS ¢

A
X
110° 60°
D B C
(1) 60° (2) 50°
(3) 110° (4) 45°

(3p*+29%) — (5q + 6p?) + (7p>—9p) erenT
Careneuulle Ll



98.

99.

100. When two parallel lines are cut by a

An office consists of Rhombus shaped 98.
window of area 500 sq.cm, which has been
decorated with rhombus shaped glass

pieces and each of its length of the
diagonals are 10 cm and 5 cm. Then, the

number of glass pieces required to cover

the window is :

(1) 25 (2) 20
3) 10 (4) 50
The difference between father’s age and 99.

his daughter’s age is 32. If his age is thrice
as old as his daughter’s age, then the age
of her father is :

(1) 48 Q) 32

3) 24 4) 52

transversal, each pair of exterior angles
that lie on the same side of the transversal

are :

(1) supplementary
(2) complementary
(3) acute angle

(4) right angle

100.

([CODE|vIII| 1T | 20 |

R AVICUDSESS 6T DerTaTed FTUIFHIT
allgailed 2 6TeTgl. AHeT LITLILICTE]
500 &.0#.18. b seanemeng &miélm
FTWEST allgelleorer SHaEmanTTigd
glarhsarred SemsilsEslulLg).
SN&FH M SementTiguller epene et
Sjereyser 10 Qg.15. whmib 5 Cg.15.
aafled Cgemeuliu@b fmy Frusgy
Qg6 HETETTIq & FlewT(h&erem erewr
W& :

1) 25 2) 20

3) 10 4) 50

g,(r_'r,mg,uﬁ]eb‘r GUWIG WOMID <6 (HED LU
waefler eiwg NsHursd 32
Shangudlen euUlIg eUmenLw waerflem
euwdler epeTm  OLBIEG  eTale,

shensudern alwg) :
(1) 48 2) 32
(3) 24 (4) 52

@rewr(h @QeanarGCsrhseT @ GnsE
Qeuliguwimed Qe tiu@n Gurg,
Gn&E Oeauliguiler GCr uUssD
Slwpg CeuatsECaTenThIgGeT

(1) Wens BlFlLs CamenThigeT
2)  BHriys Careurmbiser
(B) EnrCHTamTLD

(4) OemCsrenTd
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101.

102.

103.

In a magic triangle as given below, each
side should have the same sum —17. The

values of x, y and z are respectively :

1 -9, -8 -7 (@2 -7, -9 -8

3) 9,87 4) -7, -8, -9

The perimeter of parallelogram whose two

adjacent sides are m+n and 3m—"7n, is :

(1) 8m+16n (2) 4m-—6n

(3) 8m-—16n (4) 8m-—12n

In a competitive exam, 1 mark is given for
every correct answer and —1 mark for
A student

answered all the questions and scored

every incorrect answer.

94 marks, though answered correctly for
126 questions. The number of questions

answered incorrectly is :

101.

102.

103.

Epssramid wIW WP&CHTaTsH e
@euCleum(, LsssSle) 2 6ter eraimserflem
gL —17 erefled, x, y LHMID z -6
wdiyser weannGu

1 -9, -8 -7 (2 -7, -9 -8

B) 9,87 4) -7, -8, -9

m+n LHHDL 3m—7n YHweumenm
SAHES5HS5S LESHIGETTEHS OlsTeuTL
QanemarSSlen HHMET] :

(1) 8m+16n (2) 4m-—6n

(3) 8m-—16n (4) 8m-—12n

@m Curlys Caraliled eeubleimm
sflwrer ellenL_&@&LD e LS LG LI6wT
LD D mI LD e euCleum(m
lenL &G —1 wHUGCLET auLpBIESL
UHEDE. @@ LraTell enaTsg
MarrssEps@GL e wellgGSmi.
Sleur 126 elerT&sEhs@ Fflwmer
adlenL_weflSsCLUTHeId bmemrel T

&6Um e

QupD WHICLETSET 94 @D erefle,
seunrs ellen_wellss allermssaflen
GTERTET S0

1) 24 2) 56

3) 32 4) 23



104.

105.

106.

107.

The mean of first 10 natural numbers is :
(1) 55 (2) 45

3) 0.55 4) 55

The unit digit of 124 X 36 X980 is :

The length of full roll ribbon is 18% m .

The length of four and one-third of a roll

1S

(1) 81— m (2) 82— m
(@) 80— m 4) 80-m
The simplified value of
é_(—_ﬂ {—_5;@}{—_12{_27}
3 2 3 12 9 16
is:
N 53 - 12
(1) ETE (2) 53
53 12

104.

105.

106.

107.

([CODE|vIII| 1T | 20 |

wWps e 10 @uied erewrsatier Frmal :
(1) 55 (2) 45

3) 0.55 (4) 5.5

124%36x980 -6t 1-1b @L S ours
Snlq ULl GTE00T

@ BTLTE &@hefer Herbd 18%@.

B GD. 4 (IP(PEF SH(HETSHET LOHMID ¢R(Th
s@mafled  eperdled e LGS udlem
Qorss Herid :

1
(1) 812 5.

(3) 80% 8. (4)

-G8

-6 S(HESHLILLL S

—27}
16

-53 -12
1 75 2 =5

53 12
G 15 4 =
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108.

109.

110.

If a, b, c is a Pythagorean triplet,

a=m2—nZ and b=2mn, then c is :

3) 2mn (4) m2+n?

The number of natural numbers lying
between 92 and 102 :

1y 17 2) 18

3) 19 4) 20

The difference between the compound and

simple interest for 2 years is :

M P(ﬁj

2) P(ﬁf

B) A+I

(4) P+I

108.

109.

110.

a, b, c Qg @@ GsTETeV eLpeiTmET
Qsr@d, Guoa@id a=m?—n? wLHOHID
b=2mn eraileb ¢ -&r L :

92 -&@b 10?2 -GG Qe uilléd 2 drer
@wed ecranrsaflen eramantlEans :

1 17 2 18

@) 19 4) 20

2 YaT(Hh&EH&E dnl_(hell lg& @G,
S et e L_1q-& @ Lb @enL_Guiuyerer
dsSlwimsd

M P(ﬁj

2) P(ﬁ)z

(B) A+l

4) P+I



111.

112.

113.
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SCIENCE / g|njleSlwev

A clinical thermometer indicates
temperature from a minimum of

to a maximum of

(1) 35°C, 42°C (2) 36°C, 43°C

(3) 34°C, 41°C (4) 0°C, 100°C

If a Marathon runner takes 6 hrs to

complete 42 km stretch, find his speed.

(1) 1.94 kmm/hr

(2) 194 m/s
3) 7m/s
4) 7 km/hr

The chip in the SIM card is made up of
Silicon and Germanium because of their

, lies between the conductor
and insulator.

(1) Magnetic Induction
(2)  Electrical Current
(3)  Electrical Conductivity

(4) Resistance

111. wmsgieu GeuliuBlenawreilwrearg

GODHSULF Qalliubleneowims
__________ Qeuliubleneenwiuyid,
SHsuls Qeuiubleneowims
__________ QeuLibleneven iy id

OTEHSS FalqUiF).
(1) 35°C, 42°C (2) 36°C, 43°C

(3) 34°C, 41°C (4) 0°C, 100°C

. @M LIFEsTer @l Llupsw eIrF

42 S.8. girsHeven 6 wenll CHr&H @
sL&GHMT erafled jeulenr Cousbd :

(1) 1.94 £.15./ wewfl

(2) 1.94 18./69.
(3) 7 18./e9.
@) 7 &.85./wewf

. Absrrhseaied LwerL®HSSLILH D

Sy ser el & meo Lo ) M) LD
QgrorenSSTed < arenel. 6 bleree
Slupdler BH&L &8 &6

LOMID STULTESE@EHEE @ enulled
S| BHE (HE G LD.

(1) &Mbss srawd
(2) WerGermi_L b
() WensLsgismen

4) WensenL
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114.

115.

116.

Statement I :

All objects donot form shadow.

Statement 1II :

Shadows will be formed in the direct side

of light source.

(1) Both I and II are correct.
(2) Iis wrong but II is correct.
(3) TIand II are wrong.

(4) [lis correct but II is wrong.

Match the following :

(@) Coulomb @ o
(b) Ampere @i Q
(c) Conductivity  (iii) I
(d) Ohm (v) q
(1) (@)-(ii), (b)-(), (c)-(iv), (d)-(iD)
(2)  (@)-(v), (b)-(iid), (c)-(0), (d)-(ii)
(3)  (@)-@v), (b)-(iii), (c)-(i), (d)-()
4 ()-(), (b)-(v), (c)-(iid), (d)-(3)

The most accurate clock is

(1) Atomic clock
(2) Digital clock
(3) Quartz clock
(4) Solar clock

10

114. sapm) I:

115.

11e6.

SmandgI CUmmLSERD Hlpdsamer
2 (HEUTEHGeUFDENa.
gapm) 1I:

Blpeoser erlGumgid

Qms@n Hamsse Crrsdansude

2 _(HeUM@GLD.

eaflepebd

(1) oo I womn II g

2) smom I geum yermed II &l

(3) spm Ioombd II e

(@) spm I i >y eamme I Heum

QUT(HSSIS.

(@)  Sagid Q) o

(b) <bAWIT i) Q

() WersL g (i) I
Sarn

(d) g (iv) q

1) (@)-(id), (b)-(0), ()-(iv), (d)-(ii)

(2)  (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii)

(®)  (@)-v), (b)-(iii), (c)-(ii), (d)-(3)

4)  (@)-(ii), (b)-(iv), (o)-(iii), (d)-(0)

&g gloadlws sSarend Gl&mer

SlQHTILD :

(1) Sem& SHiq&TFLD

(2) crawenflovds SHiqsMyLD
(3) GUTTLGD &lq&TFLD
#4) Gwus susrrd



117. Pick the odd one out.

118.

119.

120.

(1) Thrishul

)

(2)
(4)

Agni

Rohini Prithvi

A body vibrates 3000 times in one minute
if the speed of sound in air is 331 ms 1

then find the frequency of vibration.

60 Hz 100 Hz

(1)
(3)

(2)

50 Hz (4) 75 Hz

A transparent glass has a refractive index
1.5. What is the speed of light through
the glass ?

4x10% ms~1
2%x108 ms~!
3%x108 ms—1

1.9%10% ms~1

The number of images formed by a mirror

depends on the of the mirrors.

Angle of inclination
Plane angle
Angle of incidence

Angle of refraction

11
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117. QUIBHSTS RETDE ST PHlLia|b.

118.

119.

1) <21 & @]

)

gl @
Grrd et

(2)

4  Ymsed

@O Aur@mer @@ Bl gdne 3000
<igltaismer gHUOSSHDS. STHHIED
paluller Gousld 331 ms™ ! erafleh ige

S SHlTCleu e :
(1) 60 Hz (2) 100 Hz
(3) 50 Hz 4) 75 Hz

@@ eafl 2ar(h(HeyD & evrewnrTiqudl et
aflaflevsed erewr 1.5 erafle, igen
auflCu  GCeogin eeafluflerdens-

Causld :

4x108 ms™1!
2x108 ms—1
3x108 ms—1

1.9%10% ms~—1

120. <y safle Cgrearmbd 19D URge 6

21945 @H&E S en LGl
ETTHSGI.

T 65oT 60T & 60 &
o GITeT

gmle s Careamsans
serg Caramsans
U@ Caranrdeng
N CaranTSans
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121.

122.

123.

The velocity of a car moving in a straight
line changes from 36 km/hr to 18 km/hr
in 10 seconds. Find its deceleration when

its deceleration is uniform.

(1) -05m/s?
(2) -1.8m/s?
(3) —3.0 m/s?
(4) 0.5 m/s?

Match the following :

(a) Monatomic (i)  Sulphur
Molecule

(b) Diatomic (i) Inert gas
Molecule

(c) Triatomic (iii) Oxygen
Molecule

(d) Polyatomic (iv) Ozone
Molecule

1) (@)-(), (b)(iii), (c)-(iv), (d)-(i)

() (@), (b)-(i), (©-v), (@)-G)

) (a)-@), (b)-(i), (c)-(iv), (d)-(iii)

() (a)-v), (b)-(id), (0)-(0), (c)-(ii)

Melting, Freezing, Rusting, Boiling,
Fermenting, Curdling, Condensation.

How many of them are Physical

changes ?
1 5 2 o
3 4 4 7

12

121.

122.

123.

@m CprsCGasrli(u  urasuie
36 &.15./wafl ererrm HevsGeoussded
QuBEIEs Cararg@Me@Gn &I
10 efermiguiléd 18 &.18./wewfl eranp
HensCGoussdlenar L& mg).
SssTrrarg rrer i whHESS
Flenend CETenTiq (HESTL AF6T 6T
WPHSSD :

(1) —0518./69.2

(2 -—18165./e9.2

3) —3.018./69.2

4) 05 18./69.2

QU BSSI5.

@ erem - () geour
PV S G M)

b) mrEm - () 0p
PO S T M) GUTUL|S&6IT

(€ epeugn - (i) <pdedlgen
PV S G M)

(d) L6 ey - (iv) gCamagr
P& En M)

(1) (a)-(ii), ()-(iid), (©)-v), ([d)-G)

(@) (a)-(iii), B)-Gi), (©)-Gv), (@)-()

) (@-@), (b)-(i), (c)-(iv), (d)-(iii)

@) (@)-@v), (b)-(ii), (c)-(0), (d)-(iii)

19 6reu (HeuaTel HMICT TSSHEN & @) Wb
Gwed wIrHMEIGET 2 dTerer ?

2 [HGSD, 2@PHD, FHUGE56D,

Cardlsse,dprdsse, sulrrgea,
<, 698 (TH I G eD.

1) 5 2) 6

@) 4 4) 7



124.

125.

126.

Yeast is a
(1) Fungus
2) Catalyst

(2)

(3) Micro-organism
(4) All of the above
Assertion (A) :

Ice absorbs heat when it melts to form
water.

Reason (R) :

The above phenomenon is an endothermic
change.

(1) (A) and (R) are true.

(2) (A) and (R) are false.

(3)  (A) is right but (R) does not explain
(A).

(4) (A) is right and (R) explains (A).

>

Match the following :

(a) Natural (@i  Cellulose
polymer

(b)  Synthetic (i) Skin
polymer

(c) Protein (i) Human body
polymer

(d) Carbohydrate (iv) Plastic
polymer

(1) (@)-(), (b)-(iv), (c)-(iD), (d)-(3)

(2)  (@)-() (b)-~(ii), (c)-(id), (d)-(iv)

() (@)-(), (b)-(iid), ()-(), (d)-(iv)

) (@)-@v), (b)-(i), (c)-(1), (d)-(iii)

13
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TV 6T&ITLIG 62(Th

(1) yYepers

(2) ellenery, sl

() Biemamudf

4) SAmersgib
Fapml (A) :

Leflssl g deuliugeng gom 2 (hs
Brréng.

snyewstd (R) :

Cupsear_ Hlspe| Ceuliub @b
LOTOHMLD <,GLD.

1) (A) LHpD R) &

(2)  (A) wpmid (R) seum.

(3) (A) M e (R),(A)-83 el
sellevena.

4)  (A) &fl wHDD (R), (A)-g ellerd
CEETR

QUTHSSI5.

(a) Qupms (i) GeayGamev
LIV LI1g &6

(b) Geswupems (i) Ggmed
LIV LI1g-&6rT

€ urs (ili) weafls 21 6
LIV LI1g &6

(d) srrCureman- (iv) dermevigsd
LGl ueoLg Ser

1) (@)-(iid), (b)-(iv), (c)-(i), (d)-(3)
(2)  (@)-@), (b)-(iid), (c)-(ii), (d)-(iv)
3 (a)-(i), (b)-(iii), (c)-(), (d)-(iv)
@) (@)-(v), (b)-(ii), (c)-(1), (d)-(iii)
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127. Plastic eating bacteria : 127. Qp&lYl o aremid Lrdeflwr
(1) Azotobacter (1) e CLmumrsLim
(2) Nitrosomonas 2) bl CrrGaerGorermen
(3) Ideonella sakaiensis (3) mOLemeerr g&wadlen
(4) Salmonella (4) ereCwrerder
128. Find the incorrect pair. 128. QuNBhsTH Qamaraws CsrbosHs
S LD.
(1) Neutron - James Chadwick (1) Bluyl e - Gegibev Fmiedls
(2) Proton - John Dalton (2) uyGpriLmer - sgmed L_MedL 6or
(3) Nucleus - Ernest Rutherford (@) Bluwseflwev - erierevLl
S To CLIMT(H)
(4) Electron - ].J. Thomson (4)  eresLymem - Cen.Gey. gmibaen
129. Carbon Monoxide leads to : 129. sriues Gorarmsams () -5@&
aull au@GSHMg).
(1) Respiratory Problem (1)  seursl) rFflener
(2) Global Warming (2) 28 CeuliLpWLTSE
(3) Acid Rain (B) e weLp
(4)  Vomiting (4) eumpdl

14



130. Pick out the anion of Hy;PO, :

1) PO () PO,
() PO, (4) PO,

131. Pick out the correct pair/pairs.

(a) Alkalis

(b) Bases

() Acids

(1) (a) only
(2) (b) and (c) only
(3) (a) and (c) only

(4)  (c) only

132. The metal used in X-Ray machines :

(1) Copper
(2) Silver
(3) Lead

(4) Aluminium

- water soluble bases

- turns blue litmus to red

- conducts electricity

15
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130. H, PO, -eir erglywafl :

(1) PO ) PO,
() PO, 4) PO,

131. #flwnenr Qevewt/Qewemsamers CHirb

05 (H&&He]|D.

(a) A@sdlser - Bifld Hevruybd
ST BIGHET

(b) smphsdar - B el eb srener

feuliurg rHmiLd

(©) SAOOEISET - LOETFTTSHNSE
&L G|

(1) (a) @b
@) (b) wHmd (¢) LA
(3) (a) wHDID (¢) L GD

(4) (c) LG

132. X-a3lT Quipdriseiler LweTLhSSL

LB 2 Carsd :
(1) smdyd
2) Qeuererfl
(3) &rfwid

4) bflefwibd
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133.

134.

135.

13e6.

Match the following :

a) Prop root (i) Betel

b)  Stilt root (i) Banyan

c) Bulb (iii) Sugarcane
(iv) Garlic

1) (@)-G), (b)), (©)-v), (-G

a

a

i), (b)-(1), (c)-(iii), (d)-(iv

(

(

(

(d) Climbing root
(

(

(

4) (@

(a)-( )
(a)-(ii (i)
(@)-( )
(a)-( )

Smallest seed in the plant kingdom :
(1) Croton (2) Orchid
(3) Pteridophyte  (4) Fungus

The fungal disease of Poultry :

(1) Salmonellosis

(2) Ranikhet

(3) Anthrax

(4) Aspergillus

The remedial measure for bleeding gums
is eating

1) apple

(1)

(2) mango
(3) jack fruit
(4)

4 citrus fruits

133.

134.

135.

136.

QU BSSI5.

a) grewr Geur i) Geuppdlene

b GL® Geir (i) pewpid

) GWIPLD (i) &Y
(iv) e

1) (@), (b)), (©-v), (-G

2
3

(

(

(

(d) upm Geur
(

(

(

4

)
)
)
)

smeur 2 edler Was AP allens :
1) ECrriier (2) YT
(@) QLAQLmerul (4) UEHenF

CarPsErsE Uehansudlarmed o (5-
aur@w Gl :
1) greoCwrereGeardlen

3)  ABSTTEE

ey
(2 rrefstes
©)
(4) Sevurgleaen

4

rosetd Qréss sfle s Siey smewt

2 airent GouaT(HLD.
1) <t
(2) wWTDULPLD
(3) wemluLpLDd
(4)

e LLphigeT



137. Each cell is interconnected with its

138.

139.

140.

neighbouring cells through opening
called :

(1) cyclodesmata
(2) plasmodesmata
(3) nucleodesmata
(4) protodesmata

The botanical name of coconut :

(1)

Allium satioum

(2)  Oryza sativa
(8)  Cocos nucifera
(4)  Citrus sinensis

Find out the incorrect pair/pairs.

(@) Mollusca - hard body
without shell

(b) Arthropoda - without
jointed legs

(c) Platyhelminthes - flame cells

(d) Annelida - segmented
body

(1) (a) only

(2)  (c) and (d) only

(3) (c)only

(4) (a) and (b) only

Name the filamentous Algae.

(1) Spirogyra

(2) Volvox

(3) Chlamydomonas
(4) Chlorella

17
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137. g@eueur@m CFbaibd g em =imale

138.

139.

2 eTem  CFsEHLT G enamnTS S
QETET(EHLD HlOUMTLD
(1)

»F&HCarm GLevwml_L T

(2) WYermevGom GlevomlLm
(3) BuwsefCur ClevwmLmr
(4) yGpmGLm GLevwmLm

GComsmuler sreureilwed Cluwm :
(1)

<Yl FL ewlL_&uLd

(2)  epewF&FT FL6wL_6UIT
(B)  srssa Hluydelgm
(4) dgev Clserereansen

QUTBHSTS ©)6nenT/ )6 e s e ard
ST MWD,

(a) Ol elser - SHigaromer
oL e

OO @0
@oeorgenael
@ enemTLiL|geT
@

STOSHET

SESHTOIFHET -

(€) sl ULypsser - &L ClFaosar

(d) eumeTEsmE - GG
L (Lp&& 6T SEITITED <, 60
2 L6
(1) (a) @D
() (o) wpmib (d) wI Gib
() (O LLED
(4)  (2) wpmId (b) I Gid

140. @l euigalld 2 el LTS :

(1) everuCrrensym

(2) QUTEGUTEHED

(3)  HermAGCLrGomrermen
4) ECermreeom
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141.

142.

143.

The fluid inside the nucleus is known as
and outside the nucleus is

called as

(1)

cytoplasm, protoplasm

(2)

chloroplast, protoplast

()

nucleoplasm, cytoplasm
(4)

germplasm, endoplasm

Find the odd one out.

(1) Ginkgo biloba
(2) Pinus

(3) Psilotum

(4) Cycas

Find the correct statements.

(a) Prions have both DNA and RNA.

Fermentation process carried out by
microorganisms results in the
production of organic acids, alcohol
and esters.

Yeast aids in fermentation with the

help of the enzyme Lipase.

Chlamydomonas exhibits sexual and

asexual modes of reproduction.

(1) (a), (b) and (c) only
(2)  (b) and (d) only
(3)  (a) and (c) only
(4)  (b), () and (d) only

18

141.

142.

143.

o Lsmefler o e1Ger o 6rer Slyeud
erarmid, GeueflCuw o 6rer

Flrauld GTETMILD AEDLPEHSHL]

N[O

1) es Grrlerrsd, CymlGLm-
Yerraid

(2 usBsmlsD, LGy G-
WGermevl

@) BHuwselCumcGerrsbd, engl GL-

Yermaid
(4) Gsgmblerrad, erenGLmiermaLd
CQuImpbEsTs paons Coibtlsds
H&LD.
1) AmGsr epuGemum

(2) eueTeL

(3) esCGerlLid

(4) o»FGSHMD

gflunes  smpméseamears  Csip

C5H&ESHaLD.

(@) WUpwurTengEeT Ig.erer.¢r. LOHMILD
<, IT.6T 60T 6T . - 6 611 & (0l & IT Gwor I (15 &5 -
GW.

(b) maremuiflserme HenL GlLmb
Aprdlssa Hlapaeier epad &l
SOIQBIGET, YOSAUDTE LODHMILD
GTEVLTEHET 2 (THeu Tl emment.

() FevLlger eneliCLe 6remenLd
AprHuden o gedluderme QBrHs
g0l FFHLIHE @Tmer.

(d) HerrACLrCurarmedles wmed
HMILD LTl wpepmuiler @erLl
CQum@mEsLD B LUMSDS.

D) @) (b wHo () LLED

@ () whmd (d) UG

(3) (a) wHmId () LD

(@) (), © whmd (d) W G



144.

145.

is a watery fluid that is present
in the area between the lens and the
cornea.

(1)

Aqueous Humour

Vitreous Humour

()

(3)

Conjunctiva

Macular edema

(4)

Select the wrong pair/ pairs.

Movement is

(a)

Hinge joints -
restricted to

one plane
(b) Condyloid - Movement
joints occurs in

three planes

(c) Ball and Socket - Movement
joints occurs in two
planes
(1) (a) only
(2)  (c) only

(a) and (c) only

(b) and (c) only

19
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Qevermgs@n, el ©leu -
LLe55GW0 el Gu BlrbiGuerer
Srreusid.

SGGeUav Flreuld
el flwev Flreuld

&EH&SEIq. T

LOM&U|GOIT 6Tl LD

& 61 M et &) am & / (@) 6 61T & 60 61T S
CabOlg(H&sHe]| .
(a) Sevepl(H - e Henguldled
L (HGw
QuissLDd
(b) (pewTLEmemrwim - oGO
epl_(h dlengaafled
C\[THE: -1
(€ ubgs Semenr - @ revwr(h
el (b Flengsafled
C\[THE: -1
(1) (a) LL@D
@) (O wiEb

(a) HMID (c) WL (KD

(b) wpmid (¢) LB
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146.

147.

148.

SOCIAL SCIENCE / &¢1pa jnlefluiev

Match the following :

(@) Thiruvalangadu (i) Muhammad
Plates -bin-Tughlaq
(b)  Anbil Plates (i) Rajendra
Chola
(c) Copper Token (iii) Iltutmish
Currency
(d) Silver Tanka (iv) Sundara
Chola
1) @-), (b)-(v), (c)-), (d)-(iid)
(2)  (@)-(v), (b)-(iid), (c)-(0), (d)-(ii)
(3 (@)-(), (b)-(iti), (c)-(iv), (d)-(3)
4)  (@)-() (b)-(ii), (c)-(id), (d)-(iv)

is a famous traveller from

Venice visited Kayal twice.

(1) Vasco-da Gama

(2) Christopher Columbus
(3) Marco Polo

(4) Bartholomew Diaz

The monolithic mega size ornamented

pillars are the unique feature of the

style.
(1) Medieval Pandya
(2) Early Pandya
(3) Later Chola
(4) Early Chola

20

146.

147.

148.

QUTHSSIS.

(@) Smeurewmst®h (i) wswg Yer
QaliGu® S Gers

(b)  emled (i) @rrCynslr
QaliGu@® Gamipen

(c) GQely (i) @ evg) L6
I IT 6U0T UL M &5 6T

(d) ‘Lmsm (iv) &bSTE
Qeuerefl Gamipe
I IT GU0T UL M) &5 6T

1) (@)-(i), (0)-(iv), (0)-(1), (d)-(ii)

(2)  (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii)

(3)  (a)-(i), (b)-(iii), (c)-(iv), (d)-(i)

4)  (@)-(), (b)-(iid), (c)-(ii), (d)-(iv)

Geueflen BrienL & Caihg LsLpLLmD

LI et wi meot @rear®h (perm

STURIESE U(HNS SHSTIT.

(1) eurevGarLamom

2)  SMevGLrur CgmelbLie

wrrsGsT GuTGeor

(2)
(3)
4)

urrsgGeombdlwim Lwe
Qufluw S| RIGT

CauenaiLm(H&@hHL 6T Fnlqll HENME
HEO FIWTSHET -6 HellS

& 1q-6l 60 T eor

SETENLD GUTIIHS LIGwTILIT@LD.

(1) QL STl LITeuTiq WITSHeT
(2)  WPDHSTEOLI LITEHTIq UIT&H6T
(@) Ynsres Csrprser

@) osred Gamprger



149. Which of the following statement/

150.

statements is/are correct ?

(a)

[ltutmish granted iqtas (land) to

members of his army.

Iqta is the land granted to army

officials in lieu of a promotion.

The iqta holder is called the iqtadar
or mugti.

The iqtadar collected revenue from

his iqta.

(a) and (b) only
(c) and (d) only
(b) only

(@), (c) and (d) only

Akbar defeated Rana Uday Singh of
Mewar and captured the Fort of Chittoor

m:

1) 1576 2) 1569

3) 1568 4) 1556

21
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149. Speumeauareupmer Fflwmes s bhm/

150.

FaHMIFHNeTSCHTH0S(HESE6LD.
(a) Qaogley sarg UmLSGate
venlwurmdlCunrrsE @Q&srs
SeneT (HlemiseT) aLphidlermit.

“@EST’ TeTUg @ rTam el
SFlsTREEREE eUpBESILIL
Cou amrig Wl o WTUge&&ETS
Qarhssul L Hlewr@L.

Bloosamsgls GubhmelT @&HTSHTT
SODG (WPES eTaTman P& L
LIL LT,

QESTSTT SETEHEG QUPBISLILILL

1Bl 6o a1 & el 60l (1 6 &1
Oeig GlameTau.

aufl e @ eb

(a) oD (b) L(HID
(c) HmID (d) LG
(b) LOL_HILb

(a), () pm (d) L@

Cueurt orgrren Frewm 2 guiflbieans

Qe Carpsiss
fsgrenrs ensliummleTi.

OI&LIT

1) 1576 2) 1569

(3) 1568 (4) 1556
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151.

152.

153.

Arrange the following in chronological

order and select the correct order.

Battle of Haldighat
Kanauj War
Battle of Panipat II

Battle of Tarain

laid a solid foundation of

Bahmani Kingdom.

Muhammad Shah I
Mujahid
Muhammad Shah II

Ala-ud-din Hasan Bahman Shah

Gold coins called Varahas were issued by

(1)
()
()
(4)

Bahmani Sultans
Vijayanagar Emperors
Palas

Pratiharas

22
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Yereumd Hlspe|Hamer &TadsE oL
ug  aflesiu@sd  sflunes
lenLenwg CarbolgH&se L.

ammrevlg&mr GuimT
senGarmeyl Guimr
@rewrLmd ureilul Gumr

genyeo GLITT

Ll eofl ST DS
DAy gsarsms Slewwdg Csrhsse

U Q6L IT 60T

(PSETID (LPSLDG| QGIT
Clels
@IETLTD (PSSO QT

SIOTEYSET QADFET LITLDET QT

GUITEEN GTETE)ILD HIhIG [bITEHTUIGISEN 6T
Qeueudl_Leurger :

umdlefl seogrenger
Mlowipsr GUITgTser
LITeOT&ET

Yrdlamriser



154.

155.

156.

The founder of the city of Ajmer :

(1) Mahipala

(2) Simharaji

(3) Chand Bardai

(4) Prithviraj Chauhan

Find the incorrect pair.

(1) Qutb-ud-din - Quwwat-ul-
-Aibak Islam-Masjid
(2) Itutmish - Laid the
foundation
of Qutb-
Minar
(3) Aurangzeb - Alam gir
(4) Muhammad - Battle of
Ghori vs. Tarain

Prithviraj Chauhan

Pick the correct statement/statements.

(a) The first Portuguese Governor was

Francisco de Almeida.

(b) Alponsa-de-Albuquerque
maintained friendly relations with
Vijayanagar Empire.

(c) Goa was the early Portuguese
Capital in India. Later on it was

replaced by Cochin.

(1) (c) only

(2) (a) and (c) only
(3) (a) and (b) only
(4) All of the above

23
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QBT pswrs Cgromeisset
(1) wdurer

(2) Sl

(3) &BS UTTMS

4) Ymdalrreyy Csergmer

SHEOUMTEST @enemTanlid SerTLHlwe]|w.
(1) ©sudan - Geuaug-26-
oUE @evemibd-evalls
@ Qogday - GgLSlaTGEEG
DNg &S BT _Ig -
weurm

(B) @ETTEsEl - AT
4) wswg Caril - senrer CumT
pyd HmS-
ellyrey GlFersmen

Geeumeuereupmier Fflwmesr gammi/

Fapmseners Csibols[H&se]L.

(a) WrrerdlevCam-ig -Gl
wad CurrsHEHu < @pbT
<2}, GUTT.

b) SHOCUTNFT-1q-AHOLETE
lggupsrl  CurrsLer B
Lmened GComolgmegTLmi.

) Gareur wgaléd Curisg s -

wrseflen SaneBsTmuldl(mbEs).

Yn@E Casréflé@ wrHmb Gl

WL g).

1) (o) wLBb

(2)  (a) wPHOID (¢) LB
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157.

158.

159.

160.

The last European Country to come to

India as traders :
1)
3)

England France

(2)
4)

Portugal Denmark

Identify the Indian Leader who fought for
independence and British Official who
suppressed his/her revolt in 1857.

Nana Saheb, Sir Colin Campbell
Kunwar Singh, John Nicholson
Lakshmibai, Henry Lawrence

Bahadur Shah II, William Taylor

Find the odd one out.

Chanda Sahib
Muhammad Ali
Nasir Jang

Muzaffar Jang

Which of the landforms are created by the

sea waves ?
(1)
()
)
(4)

Sea CIliff
Sea Caves
Sea Arches

All of the above
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CLHETET DnETHHILD



162.

163.

164.

161. In which continent is the highest waterfall 161.
“Angel falls of Venezuela” located ?
(1) South America
(2) Africa
(3) North America
(4) Europe
Which is the leading coal producer country 162.
in the World ?
(1) USA
(2) Australia
(3) China
(4) Indonesia
Which among the following relates to 163.
Eco-Tourism ?
(1) Jerusalem
(2) Angkorwat
(3) Rafting in Brahmaputra
(4) Amazon Rain Forest
Expand IATA. 164.

(1)

()

International Aviation Travel

Association

International Air Transportation

Association

International Aviation and Tourism

Association

International Air Travel Agency
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(1) International Aviation Travel

Association

(2) International Air Transportation

Association

(3) International Aviation and Tourism

Association

(4) International Air Travel Agency
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165. The term “Mohorovicic discontinuity’

166.

167.

relates to :

(1) Sial

(2) Sima

(3) The Mantle

(4) The Core

Pick the odd one out.

Pinatubo

Mt. Krakatoa

St. Helens

Mt. Stromboli

Match the following :

Cirque (i) Kalahari
Inselbergs (i) Pulicat
Loess (iii) Germany
Lagoon (iv) China

(a)-(it), (b)-(iv), (c)-(3), (d)-(iii)
(@)-(), (b)-(iii), (c)-(ii), (d)-(iv)
(a)-(iti), (b)-(1), (c)-(iv), (d)-(ii)
(@)-(v), (b)-(3), (c)-(iii), (d)-(i)
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o Lan CFTLMenL g

1)  Hwré

2) Swor

B) seusid (Lelé s(meuLd)
(4) odmersd (Core)

166. QuUIBHSTH @aTans CsTH0SMH S

&&LD.

1) AermrhHGum

(2) &rasGLmeur

(3) Qaullar Qameve

ev_gmbGumed

167. QUTHSHIS.

(a) siG@me (i)

b) smHm @fous (i)
saflé @enmise &)

(©) ®ThDg euaT e (i) Gegioef
Liiq 6 ST

d) elumssdr  (iv)

(1) (@)-(i), (b)-(iv), (0)-(i), (d)-(iii)

(2 (@)-@), (b)-(ii), (c)-(i), (d)-(iv)

() (@)-(iii), (b)-(1), (c)-(iv), (d)-(ii)

(4)  (@)-(v), (b)-(1), (c)-(iid), (d)-(ii)

sevanmifl



168.

169.

170.

Which is known as the “Lungs of the
World” ?

(1) Eastern Highlands of South America

(2) The Selvas

(3)

The gran chaco

(4) The slopes of the Andes

and are called the

‘Coffee Pot’ of the World.

Colombia and Venezuela

Ecuador and Colombia

Minas Gerais and Sao Paulo

Tierra Del Fuego and Falkland
Islands

Pick the odd one out.
Dar-es-Salaam
Abidjan
Alexandria

Addis Ababa
27
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171. Tasmania is known as island.
(1) Apple (2) Grapes
(38) Oranges (4) Apricot

172.

Pick out the correct statements.

(a)

When Igneous and Sedimentary
subjected to high

temperature and pressure, the

rocks are

original rocks get altered to form a
new kind of rock called metamorphic

rocks.

These rocks are hard in nature.

They are non-crystalline rocks.

One of the world wonders Taj Mahal
in India was built with white marble,

a metamorphic rock.

(@) and (b)
(b) and (c)
(c) and (d)

(@) and (d)
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173.

174.

175.

176.

177.

The deepest and longest fresh water lake
in the World :

(1)
(3)

Turkana

(2)
(4)

Superior
Tanganyika Victoria

The

State Universities.

acts as the Chancellor of

(1) Chief Minister

(2) Governor

(3) State Education Minister
(4) Deputy Chief Minister

The Motor Vehicle Act came into force in

the year :
(1) 1978 (2) 1998
(3) 1988 (4) 1989

The word “secular” was incorporated in
the Preamble through the

Amendment of the Indian Constitution.

(1) 42nd (2) 44th
(3) 61t (4) 103
The symbol v represents :

(1) Bus Stop

(2) Give Way

(3) Sound Horn

(4) Bridge ahead
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178.

179.

180.

Choose the odd man out.

Article 14 Article 16

(1)
(3)

()

Article 28 (4) Article 18

Who is called the ‘Changing Agent of the
Society” ?

(1)
(2)
(3)
(4)

Entrepreneur
Investor
Consumer

Producer

“Money is what Money does” was said by

Scitovsky
Robertson
Sir John Hicks

Adam Smith

-00o0-
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